Convert SSR to transfer function/matrix Thursday, April 15, 2021 11:32 AM  $\overrightarrow{x}$  = A X(+) + BU(+) ZSSR time - Jonanin  $\overrightarrow{y}$  + J= C X(+) + DU(+) ZSSR time - Jonanin Taking laplace transform (with Zers I.C.) SX(S) - X(S) + BU(S) = (i) => [SF-A] Y(S) = C X(S) + DU(S) = (i) => [SF-A] Variable matrix Variable E  $(S_{I} - A) \times (S) = B \times (S)$ X(s) = (SI-A)<sup>5</sup> BU(s) - (iii) Sub Eq(iii) into Eq(ii) V(S) = C (SI-A) B W(S) ]+ D W(S) Y(S= [C(SJ-A) B+D]U(S)  $\frac{Y_{(S)}}{2} = C(SI-A)^{\prime}B+D^{\prime}$ -> JI UI -> YZ TEZ TM =

STUDENTS-HUB.com

Uploaded By: Mohammad Awawdeh

Exist  $x = \begin{bmatrix} 0 & 1 \\ -2 & -3 \end{bmatrix} \times 4 \begin{bmatrix} 0 \\ -2 &$ Thursday, April 15, 2021  $y \in [1 \circ] \times + [0]^{U}$  $(SI-A) = \begin{bmatrix} S & 0 \\ 0 & S \end{bmatrix} - \begin{bmatrix} 0 & 1 \\ -2 & -3 \end{bmatrix} = \begin{bmatrix} S & -1 \\ 2 & S+3 \end{bmatrix}$  $(SJ - A)' = \begin{bmatrix} S+3 & 1 \\ -2 & S \end{bmatrix} = \begin{bmatrix} S^2 + SS + 2 \end{bmatrix} \Delta$   $C (SJ - A)' = \begin{bmatrix} 1 & 0 \end{bmatrix} \begin{bmatrix} S+3 & 1 \\ 1 & K^2 \end{bmatrix} = \begin{bmatrix} S+3 & 1 \\ 1 & K^2 \end{bmatrix} = \begin{bmatrix} S+3 & 1 \\ 0 \end{bmatrix} = \begin{bmatrix} S+3$  $C(SI-A)B = \frac{1}{2\times 1}B = \frac{1}{2\times 1}B$  $C(SI-A)B+D = \frac{1}{S^2+3S+2}$ Matlub A = U B= V C= V D= V [num, den] = ss2tf(A, B, C, D) ~ TF G= tl(num, den) A= v Bv r De Synns s Second moted Second moted Second moted Second moted Symbolic Pun - Note- The process & Converting transfer fun to SSP is NOT unique. There are Various "realizations" possible.

STUDENTS-HUB.com

Uploaded By: Mohammad Awawdeh

Thursday, April 15, 2021 11:32 AM  $G(S) = b \circ S^{m} + b_{1} S^{m-1} + b_{m}$   $a_{0} S^{n} + a_{1} S^{n-1} + \dots + a_{n}$ Classification & TF. (D strictly proper TF .: - if Jeg bis < Jeg as or equivalent G(00)= O G(0= 5+1 (2) inproper T.F. - if day b(s) > dag a(s)  $G(5) = 5^{3} + 35 + 2$   $C_{21} \log$  X (3) Bi-proper TF. : if deg b(s) = deg d(s)  $G_{1}(s) = \frac{s^{2} + 10s + 2}{s^{2} + 3s + 2}$   $G_{1}(s) \neq 0 = 0$ \* ploper TF- if Gis is said to be proper if day bis & day als - if gij(s) are strictly proper TF, thenfore Gis is strictly proper Transfer matrix - if gij is) are stricty proper or bi-proper TF. Some fore Gussis Proper T. M" transfer matrix"

STUDENTS-HUB.com

Uploaded By: Mohammad Awawdeh

Contenting From TForTM to SSR-Thursday, April 15, 2021 - 11:32 AM Thave are three Colles + (1) Simple numerator (Stricly Proper) (2) Simple numerator (Stricly Proper) (3) - (3) = (1) (3) - (1) (3) Ex: Convert  $G_{1}(s) \leq \underbrace{(1)}_{S^{3} + 10S^{2} + 3S + 2}$  to SSR  $G_{1}(5) = \frac{Y_{1}(5)}{11(5)} = \frac{1}{5^{3}+105^{2}+35+2}$  $= \frac{1}{3} (5) (5^{3} + 105^{2} + 35 + 2) = U(5) \text{ take the}$   $= \frac{1}{3} (10) + 10 \frac{1}{3} (10) + 2 \frac{1}{3} (10) + 2 \frac{1}{3} (10) = 10 \text{ minors} = 10 \text{$  $\dot{X} = \begin{bmatrix} \dot{X}_{1} \\ \dot{X}_{2} \end{bmatrix} = \begin{bmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} X + \begin{bmatrix} 0 \\ 0 \end{bmatrix} U(4)$  $\dot{X}_{3} = \begin{bmatrix} -2 & -3 & -10 \end{bmatrix} X + \begin{bmatrix} 0 \\ 1 \end{bmatrix} U(4)$ from the states assumption MA 1B J(t) = X1 contput  $y(t) = [1 \circ 0] x(t) + [0] U(t)$   $\dot{x} = A + tBu$  C-vector D y = cx + Du row Uploaded By: Mohammad Awawdeh STUDENTS-HUB.com

Thursday, April 15, 2021 11:32 AM

Case 2: Numerator less than denominator  $E(x) = Convert G_{1(S)} = \frac{S^{2} + 2S + 1}{S^{3} + 3S^{2} + 10S + 2}$  (strictly) Proper  $\begin{array}{c} G(5) = Y(5) \\ \hline U(5) = 5^{2} + 25 + 1 \\ \hline U(5) = 5^{3} + 35^{2} + 105 + 2 \\ \hline D(5) \end{array}$  $G_{1}(5) = \frac{Y(5)}{U(5)} = \frac{V(5)}{V(5)} \cdot \frac{Y(5)}{V(5)}$   $\frac{Y(5)}{U(5)} = \frac{1}{D(5)} \cdot \frac{Y(5)}{V(5)} \cdot \frac{Y(5)}{V(5)} \cdot \frac{Y(5)}{V(5)}$ Case  $-\frac{\gamma(s)}{\mu(s)} = \frac{1}{D(s)} = \frac{1}{S^3 + 3S^2 + 10S + 2}$ N(5) (5<sup>3</sup>+35<sup>2</sup>+105+2) = U(5)-Otoke laflere ~ (U+ 3~(H)+ 10~(H)+2~(H)= U(H) let the states an Subtu states in Eq. (x) X3 - Ult - 3X3 - 10 X2 - 2X15-C) 

STUDENTS-HUB.com

Uploaded By: Mohammad Awawdeh

Thursday, April 15, 2021 11:32 AM  $\frac{J(S)}{V(S)} = N(S) - S^{2} + 2S + 1$   $\frac{J(S)}{V(S)} = V(S) (S^{2} + 2S + 1) \int t_{0}k_{0} t_{0} t$ 2 (JX+[0]ues STUDENTS-HUB.com Uploaded By: Mohammad Awawdeh

Thursday, April 15, 2021 11:32 AM Cese 3 - Diproper Fun.  $G_{(S)} = 10S_{+}^{3} + 2S_{+}^{2} + (0S_{+}^{2})$   $S_{+}^{3} + 3S_{+}^{3} + 2S_{+}^{5} + 5$ 6 = 10  $5^{3} + 3^{2} + 25 + 5 = 10$   $6 = 5 = (10) + \frac{-28s^{2} - 10s - 48}{5^{3} + 3s^{2} + 25 + 5} = \frac{-19s^{3} + 2s^{2} + 10s + 2}{-19s^{3} + 39s^{2} + 20s + 50}$   $-\frac{19s^{3} + 39s^{2} + 20s + 5}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 5}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$   $-\frac{19s^{3} + 39s^{2} + 20s + 50}{-28s^{2} - 10s - 48}$ A, B, C matrices Uploaded By: Mohammad Awawdeh STUDENTS-HUB.com